# Some New Identities and Formulas for Higher-Order Combinatorial-Type Numbers and Polynomials 

Irem Kucukoglu ${ }^{\text {a }}$<br>${ }^{a}$ Department of Engineering Fundamental Sciences, Faculty of Engineering, Alanya Alaaddin Keykubat University Antalya TR-07425 Turkey


#### Abstract

The main purpose of this paper is to provide various identities and formulas for higherorder combinatorial-type numbers and polynomials with the help of generating functions and their both functional equations and derivative formulas. The results of this paper comprise some special numbers and polynomials such as the Stirling numbers of the first kind, the Cauchy numbers, the Changhee numbers, the Simsek numbers, the Peters poynomials, the Boole polynomials, the Simsek polynomials. Finally, remarks and observations on our results are given.


## 1. Introduction

The aim of this paper is to provide some new identities and relations for a family of generating functions constructed via inspiring by the following equations given by Simsek [9, p. 567]:

$$
\int_{\mathbb{X}} \lambda^{x}(1+\lambda t)^{x} \chi(x) d \mu_{-q}(x)=\frac{1+q}{(\lambda q)^{d}(1+\lambda t)^{d}-1} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j}
$$

and

$$
H(t ; \lambda, q, \chi)=\frac{(1+q) \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j}}{(\lambda q)^{d}(1+\lambda t)^{d}-1}=\sum_{n=0}^{\infty} Y_{n, \chi}(\lambda, q) \frac{t^{n}}{n!}
$$

where

$$
\begin{aligned}
& \mu_{q}(x)=\mu_{q}\left(x+p^{N} \mathbb{Z}_{p}\right)=\frac{q^{x}}{\left[p^{N}\right]} \\
& {[x]=[x: q]=\left\{\begin{array}{cc}
\frac{1-q^{x}}{1-q}, & q \neq 1 \\
x, & q=1
\end{array}\right.}
\end{aligned}
$$

[^0]$$
\mathbb{X}=\mathbb{X}_{d}=\lim _{\check{N}} \mathbb{Z} / d p^{N} \mathbb{Z}, \quad \mathbb{X}_{1}=\mathbb{Z}_{p} \text { (the set of } p \text {-adic integers) }
$$
and $d$ is an even positive integer, $\lambda \in \mathbb{Z}_{p}$ with $\lambda \neq 1$ and $\chi$ denotes the Dirichlet character with even conductor $d$.

Here, we note that for any integer $d$, we give some fundamental properties of the numbers $I_{n, d}(\lambda, q)$ (of higher-order) and the polynomials $I_{n, d}(x ; \lambda, q)$ (of higher-order) which are defined by means of the following generating functions, respectively:

$$
\begin{equation*}
F_{d}(t ; \lambda, q)=\frac{\log (1+\lambda t)}{(\lambda q)^{d}(1+\lambda t)^{d}-1}=\sum_{n=0}^{\infty} I_{n, d}(\lambda, q) \frac{t^{n}}{n!}, \tag{1}
\end{equation*}
$$

and

$$
\begin{equation*}
G_{d}(t, x ; \lambda, q)=(1+\lambda t)^{x} F_{d}(t ; \lambda, q)=\sum_{n=0}^{\infty} I_{n, d}(x ; \lambda, q) \frac{t^{n}}{n!} \tag{2}
\end{equation*}
$$

also generating functions of their higher-order are given by

$$
\begin{equation*}
\mathcal{F}_{d}(t ; \lambda, q, k)=\left(\frac{\log (1+\lambda t)}{(\lambda q)^{d}(1+\lambda t)^{d}-1}\right)^{k}=\sum_{n=0}^{\infty} I_{n, d}^{(k)}(\lambda, q) \frac{t^{n}}{n!^{\prime}} \tag{3}
\end{equation*}
$$

and

$$
\begin{equation*}
\mathcal{G}_{d}(t, x ; \lambda, q, k)=(1+\lambda t)^{x} \mathcal{F}_{d}(t ; \lambda, q, k)=\sum_{n=0}^{\infty} I_{n, d}^{(k)}(x ; \lambda, q) \frac{t^{n}}{n!} \tag{4}
\end{equation*}
$$

where $k$ is a nonnegative integer (cf. [5], [6]).
Theorem 1.1 (cf. [5]). Let $n$ be a nonnegative integer. Then we have

$$
\begin{equation*}
I_{n, d}^{(k)}(x ; \lambda, q)=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(x)_{n-j} I_{j, d}^{(k)}(\lambda, q) \tag{5}
\end{equation*}
$$

where $(x)_{n}=x(x-1) \ldots(x-n+1)$.
By (5), one can easily see that $I_{0, d}^{(k)}(x ; \lambda, q)=I_{0, d}^{(k)}(\lambda, q)$. Setting $k=0$ into (5) yields $I_{n, d}^{(0)}(x ; \lambda, q)=\lambda^{n}(x)_{n}$.
Higher-order Simsek numbers $Y_{n}^{(k)}(\lambda)$ and higher-order Simsek polynomials $Y_{n}^{(k)}(x ; \lambda)$ are defined by means of the following generating functions, respectively (cf. [4], [9]):

$$
\begin{equation*}
\mathcal{F}(t, k ; \lambda)=\left(\frac{2}{\lambda(1+\lambda t)-1}\right)^{k}=\sum_{n=0}^{\infty} Y_{n}^{(k)}(\lambda) \frac{t^{n}}{n!} \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
\mathcal{F}(t, x, k ; \lambda)=(1+\lambda t)^{x} \mathcal{F}(t, k ; \lambda)=\sum_{n=0}^{\infty} Y_{n}^{(k)}(x ; \lambda) \frac{t^{n}}{n!} \tag{7}
\end{equation*}
$$

where $k$ is a nonnegative integer and $\lambda$ is a real or complex number. It should be noted that $Y_{n}(\lambda)=Y_{n}^{(1)}(\lambda)$, $Y_{n}(x ; \lambda)=Y_{n}^{(1)}(x ; \lambda)$ and $Y_{n}^{(k)}(\lambda)=Y_{n}^{(k)}(0 ; \lambda)(c f .[4],[9],[11])$.

In order to obtain our results, we also need the following generating functions for well-known special numbers and polynomials:

The Stirling numbers of the first kind $S_{1}(n, k)$ are given by

$$
\begin{equation*}
F_{S_{1}}(t, k)=\frac{(\log (1+t))^{k}}{k!}=\sum_{n=0}^{\infty} S_{1}(n, k) \frac{t^{n}}{n!} \tag{8}
\end{equation*}
$$

(cf. [7]; see also the references cited therein).
The generating function for the Bernoulli numbers $b_{n}(0)$ of the second kind, which are also called the Cauchy numbers, are given by ( $c f .[7$, p. 116]):

$$
\begin{equation*}
F_{C}(t)=\frac{t}{\log (1+t)}=\sum_{n=0}^{\infty} b_{n}(0) \frac{t^{n}}{n!} \tag{9}
\end{equation*}
$$

and these numbers are calculated by the following definite integral (cf. [7, p. 114]):

$$
\begin{equation*}
b_{n}(0)=\int_{0}^{1}(x)_{n} d x \tag{10}
\end{equation*}
$$

The generating function for the Peters polynomials $s_{n}(x ; \lambda, \mu)$, which is a member of the family of Sheffer sequences, is given by

$$
\begin{equation*}
F_{\mathcal{P}}(t, x ; \lambda, \mu)=\frac{1}{\left(1+(1+t)^{\lambda}\right)^{\mu}}(1+t)^{x}=\sum_{n=0}^{\infty} s_{n}(x ; \lambda, \mu) \frac{t^{n}}{n!} \tag{11}
\end{equation*}
$$

(cf. [1], [3], [7], [8]). Besides, in their special case when $\mu=1$, the Peters polynomials $s_{n}(x ; \lambda, \mu)$ are reduced to the Boole polynomials $\xi_{n}(x ; \lambda)(c f$. [3]):

$$
\xi_{n}(x ; \lambda)=s_{n}(x ; \lambda, 1)
$$

which, for $x=0$ and $\lambda=1$, yields the Changhee numbers $C h_{n}=2 \xi_{n}(0 ; 1)(c f .[2])$.
2. Identities for the numbers $I_{n, d}^{(k)}(\lambda, q)$ and the polynomials $I_{n, d}^{(k)}(x ; \lambda, q)$

In this section, we present some identities and relations involving the numbers $I_{n, d}^{(k)}(\lambda, q)$ and the polynomials $I_{n, d}^{(k)}(x ; \lambda, q)$.

By making use of (3), we have the following functional equation:

$$
\mathcal{F}_{d}(t ; \lambda, q, k+v)=\mathcal{F}_{d}(t ; \lambda, q, k) \mathcal{F}_{d}(t ; \lambda, q, v) .
$$

Using the Cauchy product in the above equation yields

$$
\sum_{n=0}^{\infty} I_{n, d}^{(k+v)}(\lambda, q) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\left(\sum_{j=0}^{n}\binom{n}{j} I_{j, d}^{(k)}(\lambda, q) I_{n-j, d}^{(v)}(\lambda, q)\right) \frac{t^{n}}{n!}
$$

Equating the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation yields a computation formula for the numbers $I_{n, d}^{(k+v)}(\lambda, q)$ by the following theorem:

## Theorem 2.1.

$$
I_{n, d}^{(k+v)}(\lambda, q)=\sum_{j=0}^{n}\binom{n}{j}_{j, d}^{(k)}(\lambda, q) I_{n-j, d}^{(v)}(\lambda, q)
$$

With the help of Theorem 2.1, some numerical values of the numbers $I_{n, d}^{(k)}(\lambda, q)$ are computed as follows:

$$
I_{0, d}^{(2)}(\lambda, q)=I_{1, d}^{(2)}(\lambda, q)=0, \quad I_{2, d}^{(2)}(\lambda, q)=\frac{2 \lambda^{2}}{\left((\lambda q)^{d}-1\right)^{2}}, \quad I_{3, d}^{(2)}(\lambda, q)=\frac{6 \lambda^{3}\left(1-(1+2 d)(\lambda q)^{d}\right)}{\left((\lambda q)^{d}-1\right)^{3}}, \ldots
$$

By (3), we obtain

$$
(\log (1+\lambda t))^{k}=\left((\lambda q)^{d}(1+\lambda t)^{d}-1\right)^{k} \sum_{n=0}^{\infty} I_{n, d}^{(k)}(\lambda, q) \frac{t^{n}}{n!} .
$$

Making use of the Binomial theorem in the above equation together with combining (8), we get

$$
k!\sum_{n=0}^{\infty} \lambda^{n} S_{1}(n, k) \frac{t^{n}}{n!}=\sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j}(\lambda q)^{d j}\left(\sum_{n=0}^{\infty}(d j)_{n} \lambda^{n^{n}} \frac{n^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} I_{n, d}^{(k)}(\lambda, q) \frac{t^{n}}{n!}\right) .
$$

Using the Cauchy product and equating the coefficients of $\frac{\dagger^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 2.2.

$$
S_{1}(n, k)=\frac{1}{k!\lambda^{n}} \sum_{j=0}^{k} \sum_{m=0}^{n}(-1)^{k-j}\binom{k}{j}\binom{n}{m}(\lambda q)^{d j}(d j)_{m} \lambda^{m} I_{n-m, d}^{(k)}(\lambda, q) .
$$

Substituting $x=d$ into (5) and $k=1$ into Theorem 2.2 with the help of following well-known identity

$$
\begin{equation*}
S_{1}(n, 1)=(-1)^{n-1}(n-1)!, \tag{12}
\end{equation*}
$$

we also arrive at the following corollary:

## Corollary 2.3.

$$
\begin{equation*}
\lambda^{n}(-1)^{n-1}(n-1)!=(\lambda q)^{d} I_{n, d}(d ; \lambda, q)-I_{n, d}(\lambda, q) . \tag{13}
\end{equation*}
$$

By (3) and (11), in the special case when $d$ is odd integer, we have the following functional equation:

$$
\mathcal{F}_{d}\left(t ; \lambda,-\frac{1}{\lambda}, k\right)=(-1)^{k} k!F_{S_{1}}(\lambda t, k) F_{\mathcal{P}}(\lambda t, 0 ; d, k) .
$$

which yields

$$
\sum_{n=0}^{\infty} I_{n, d}^{(k)}\left(\lambda,-\frac{1}{\lambda}\right) \frac{t^{n}}{n!}=(-1)^{k} k!\left(\sum_{n=0}^{\infty} \lambda^{n} S_{1}(n, k) \frac{t^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} \lambda^{n} s_{n}(0 ; d, k) \frac{t^{n}}{n!}\right)
$$

Using the Cauchy product and comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the final equation, we arrive at the following theorem:
Theorem 2.4. Let d be odd integer. Then we have

$$
I_{n, d}^{(k)}\left(\lambda,-\frac{1}{\lambda}\right)=(-1)^{k} k!\lambda^{n} \sum_{j=0}^{n}\binom{n}{j} S_{1}(j, k) s_{n-j}(0 ; d, k) .
$$

By setting $k=1$ into Theorem 2.4 and using (12), we arrive at the following corollary:
Corollary 2.5. Let $d$ be odd integer. Then we have

$$
I_{n, d}\left(\lambda,-\frac{1}{\lambda}\right)=\lambda^{n} \sum_{j=1}^{n}(-1)^{j} \frac{(n)_{j} \xi_{n-j}(0 ; d)}{j} .
$$

By setting $d=1$ into Corollary 2.5, we also arrive at the following corollary:

## Corollary 2.6.

$$
\begin{equation*}
I_{n, 1}\left(\lambda,-\frac{1}{\lambda}\right)=\lambda^{n} \sum_{j=1}^{n}(-1)^{j} \frac{(n)_{j} C h_{n-j}}{2 j} \tag{14}
\end{equation*}
$$

Since

$$
C h_{n}=\frac{(-1)^{n} n!}{2^{n}}
$$

(cf. [2]), equation (14) is also written as follows:

$$
\begin{equation*}
I_{n, 1}\left(\lambda,-\frac{1}{\lambda}\right)=\frac{(-1)^{n} \lambda^{n} n!}{2^{n+1}} \sum_{j=1}^{n} \frac{2^{j}}{j} \tag{15}
\end{equation*}
$$

Combining the above equation with the following well-known identity,

$$
\frac{2^{n}}{n} \sum_{k=0}^{n-1} \frac{1}{\binom{n-1}{k}}=\sum_{j=1}^{n} \frac{2^{j}}{j}
$$

for $n \geq 1$ (cf. [10]), we get the following corollary:

## Corollary 2.7.

$$
I_{n, 1}\left(\lambda,-\frac{1}{\lambda}\right)=\frac{(-1)^{n} \lambda^{n}(n-1)!}{2} \sum_{k=0}^{n-1} \frac{1}{\binom{n-1}{k}}
$$

By (3), (6) and (8), we have the following functional equation:

$$
\mathcal{F}_{1}(t ; \lambda, 1, k)=\frac{k!}{2^{k}} \mathcal{F}(t, k ; \lambda) F_{S_{1}}(\lambda t, k)
$$

which yields

$$
\sum_{n=0}^{\infty} I_{n, 1}^{(k)}(\lambda, 1) \frac{t^{n}}{n!}=\frac{k!}{2^{k}}\left(\sum_{n=0}^{\infty} Y_{n}^{(k)}(\lambda) \frac{t^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} \lambda^{n} S_{1}(n, k) \frac{t^{n}}{n!}\right)
$$

Using the Cauchy product in the above equation and comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the final equation, we arrive at the following theorem:

## Theorem 2.8.

$$
\begin{equation*}
I_{n, 1}^{(k)}(\lambda, 1)=\frac{k!}{2^{k}} \sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j} Y_{j}^{(k)}(\lambda) S_{1}(n-j, k) \tag{16}
\end{equation*}
$$

Remark 2.9. Since

$$
Y_{n}^{(k)}(\lambda)=(-1)^{n}\binom{n+k-1}{n} \frac{2^{k} n!\lambda^{2 n}}{(\lambda-1)^{k+n}}
$$

(cf. [4]), equation (14) is also written as follows:

$$
\begin{equation*}
I_{n, 1}^{(k)}(\lambda, 1)=\frac{k \lambda^{n}}{(\lambda-1)^{k}} \sum_{j=0}^{n}(-1)^{j}\binom{n}{j}(j+k-1)!\left(\frac{\lambda}{\lambda-1}\right)^{j} S_{1}(n-j, k) \tag{17}
\end{equation*}
$$

2.1. Riemann integral representation of the polynomials $I_{n, d}^{(k)}(x ; \lambda, q)$

Here, we provide integral representation of the polynomials $I_{n, d}^{(k)}(x ; \lambda, q)$.
Integrating both sides of (5) from 0 to 1 with respect to $x$ yields

$$
\int_{0}^{1} I_{n, d}^{(k)}(x ; \lambda, q) d x=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j} I_{j, d}^{(k)}(\lambda, q) \int_{0}^{1}(x)_{n-j} d x
$$

Combining the above equation with (10) yields the Riemann integral representation of the polynomials $I_{n, d}^{(k)}(x ; \lambda, q)$ by the following theorem:
Theorem 2.10.

$$
\int_{0}^{1} I_{n, d}^{(k)}(x ; \lambda, q) d x=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j} I_{j, d}^{(k)}(\lambda, q) b_{n-j}(0)
$$

## 3. Further identities arising from partial derivative formulas for the function $\mathcal{G}_{d}(t, x ; \lambda, q, k)$

The aim of this section is to present a few partial derivative formulas including the generating function $\mathcal{G}_{d}(t, x ; \lambda, q, k)$. By making use of these derivative formulas, we derive some identities in association with the Cauchy numbers and the polynomials $I_{n, d}^{(k)}(x ; \lambda, q)$.

Taking the derivative of (4) with respect to the parameter $q$ yields the following partial differential equation

$$
\begin{equation*}
\frac{\partial}{\partial q}\left\{\mathcal{G}_{d}(t, x ; \lambda, q, k)\right\}=-\frac{d k(\lambda q)^{d}}{q \log (1+\lambda t)} \mathcal{G}_{d}(t, x+d ; \lambda, q, k+1) \tag{18}
\end{equation*}
$$

Upon rearranging right-hand side of the equation (18) and making use of the generating function for the Cauchy numbers in (9), we get the following functional equation:

$$
\begin{equation*}
\frac{\partial}{\partial q}\left\{\mathcal{G}_{d}(t, x ; \lambda, q, k)\right\}=-\frac{d k(\lambda q)^{d-1}}{t} F_{C}(\lambda t) \mathcal{G}_{d}(t, x+d ; \lambda, q, k+1) \tag{19}
\end{equation*}
$$

which readily yields

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial q}\left\{I_{n, d}^{(k)}(x ; \lambda, q)\right\} \frac{t^{n}}{n!}=-\frac{d k(\lambda q)^{d-1}}{t}\left(\sum_{n=0}^{\infty} \lambda^{n} b_{n}(0) \frac{t^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} I_{n, d}^{(k+1)}(x+d ; \lambda, q) \frac{t^{n}}{n!}\right)
$$

By using the Cauchy product in the above equation and after some elementary calculations, we obtain

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial q}\left\{I_{n, d}^{(k)}(x ; \lambda, q)\right\} \frac{t^{n}}{n!}=-d k(\lambda q)^{d-1} \sum_{n=0}^{\infty}\left(\frac{1}{n+1} \sum_{j=0}^{n+1}\binom{n+1}{j} \lambda^{j} b_{j}(0) I_{n+1-j, d}^{(k+1)}(x+d ; \lambda, q)\right) \frac{t^{n}}{n!}
$$

Upon comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at a derivative formula for the polynomials $I_{n, d}^{(k)}(x ; \lambda, q)$ by the following theorem:

## Theorem 3.1.

$$
\frac{\partial}{\partial q}\left\{I_{n, d}^{(k)}(x ; \lambda, q)\right\}=\frac{-d k(\lambda q)^{d-1}}{n+1} \sum_{j=0}^{n+1}\binom{n+1}{j} \lambda^{j} b_{j}(0) I_{n+1-j, d}^{(k+1)}(x+d ; \lambda, q)
$$

On the other hand, it follows from (4) and (18) that

$$
\sum_{n=0}^{\infty} I_{n, d}^{(k+1)}(x+d ; \lambda, q) \frac{t^{n}}{n!}=-\frac{q \log (1+\lambda t)}{d k(\lambda q)^{d}} \sum_{n=0}^{\infty} \frac{\partial}{\partial q}\left\{I_{n, d}^{(k)}(x ; \lambda, q)\right\} \frac{t^{n}}{n!}
$$

Combining the above equation with the Taylor series for the function $\log (1+\lambda t)$ yields

$$
\sum_{n=0}^{\infty} I_{n, d}^{(k+1)}(x+d ; \lambda, q) \frac{t^{n}}{n!}=-\frac{q}{d k(\lambda q)^{d}} \sum_{n=0}^{\infty}\left(n \sum_{j=0}^{n-1}(-1)^{j} \frac{(n-1)!\lambda^{j+1}}{(n-1-j)!(j+1)} \frac{\partial}{\partial q}\left\{I_{n-1-j, d}^{(k)}(x ; \lambda, q)\right\}\right) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation yields the following theorem:

## Theorem 3.2.

$$
\begin{equation*}
I_{n, d}^{(k+1)}(x+d ; \lambda, q)=-\frac{n!}{d k(\lambda q)^{d-1}} \sum_{j=0}^{n-1}(-1)^{j} \frac{\lambda^{j}}{(j+1)(n-1-j)!} \frac{\partial}{\partial q}\left\{I_{n-1-j, d}^{(k)}(x ; \lambda, q)\right\} \tag{20}
\end{equation*}
$$

Also, taking the derivative of (4) with respect to the parameter $x$ yields the following partial differential equation

$$
\begin{equation*}
\frac{\partial}{\partial x}\left\{\mathcal{G}_{d}(t, x ; \lambda, q, k)\right\}=\log (1+\lambda t) \mathcal{G}_{d}(t, x ; \lambda, q, k) \tag{21}
\end{equation*}
$$

If we combine equation (21) with equation (4) and the Taylor series for the function $\log (1+\lambda t)$, then we get

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial x}\left\{I_{n, d}^{(k)}(x ; \lambda, q)\right\} \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\left(n \sum_{j=0}^{n-1}(-1)^{j} \frac{(n-1)!\lambda^{j+1}}{(n-1-j)!(j+1)} I_{n-1-j, d}^{(k)}(x ; \lambda, q)\right) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation yields the following theorem:
Theorem 3.3.

$$
\begin{equation*}
\frac{\partial}{\partial x}\left\{I_{n, d}^{(k)}(x ; \lambda, q)\right\}=\lambda n!\sum_{j=0}^{n-1}(-1)^{j} \frac{\lambda^{j}}{(n-1-j)!(j+1)} I_{n-1-j, d}^{(k)}(x ; \lambda, q) \tag{22}
\end{equation*}
$$

## Acknowledgements

This article is dedicated to Professor Gradimir V. Milovanović on the Occasion of his 70th anniversary.

## References

[1] C. Jordan, Calculus of Finite Differences (2nd ed.), Chelsea Publishing Company, New York, 1950.
[2] D. S. Kim, T. Kim, J. Seo, A note on Changhee numbers and polynomials, Advanced Studies in Theoretical Physics 7 (2013) 993-1003.
[3] D. S. Kim, T. Kim, A note on Boole polynomials, Integral Transforms and Special Functions 25(8) (2014) 627-633.
[4] I. Kucukoglu, B. Simsek, Y. Simsek, An approach to negative hypergeometric distribution by generating function for special numbers and polynomials, Turkish Journal of Mathematics 43 (2019) 2337-2353.
[5] I. Kucukoglu, A note on combinatorial numbers and polynomials, The Proceedings Book of The Mediterranean International Conference of Pure\&Applied Mathematics and Related Areas (MICOPAM 2018) Dedicated to Professor Gradimir V. Milovanović on the Occasion of his 70th Anniversary, (Edited by Y. Simsek), ISBN 978-86-6016-036-4, October 26-29, 2018, Antalya, TURKEY, pp. 103-106.
[6] I. Kucukoglu, Y. Simsek, On a family of special numbers and polynomials associated with Apostol-type numbers and polynomials and combinatorial numbers, Applicable Analysis and Discrete Mathematics 13(2) (2019) 478-494.
[7] S. Roman, The Umbral Calculus, Academic Press, New York, 1984.
[8] Y. Simsek, Analysis of the $p$-adic $q$-Volkenborn integrals: An approach to generalized Apostol-type special numbers and polynomials and their applications, Cogent Mathematics 3(1269393) (2016) 1-17 (2016).
[9] Y. Simsek, Construction of some new families of Apostol-type numbers and polynomials via Dirichlet character and p-adic $q$-integrals, Turkish Journal of Mathematics 42 (2018) 557-577.
[10] Y. Simsek, Combinatorial sums and binomial identities associated with the Beta-type polynomials, Hacettepe Journal of Mathematics and Statistics 47(5) (2018) 1144-1155.
[11] H. M. Srivastava, I. Kucukoglu, Y. Simsek, Partial differential equations for a new family of numbers and polynomials unifying the Apostol-type numbers and the Apostol-type polynomials, Journal of Number Theory 181 (2017) 117-146.


[^0]:    2010 Mathematics Subject Classification. 05A10, 05A15, 11B83, 26C05, 30D05, 35A99.
    Keywords. Functional Equation, Generating functions, Binomial coefficient, Partial differential equations, Stirling numbers of the first kind, Cauchy numbers, Peters poynomials, Boole polynomials, Changhee numbers, Simsek numbers and polynomials, Special numbers and polynomials.

    Received: 22 January 2019; Accepted: 10 March 2019
    Communicated by Miodrag Spalević
    Email address: irem.kucukoglu@alanya. edu.tr (Irem Kucukoglu)

